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Q1. Synonym of efface = ?

Q2. Two digit number, the difference of its digits is one tweleth of it. Find sum of
the 2 digits.

a) data insufficient
b) 6

c)8

d) 10

e) none

Q3. A 6 meters wide road is laid around a garden. Rad area is 564 sq meters. If the

length of the garden is 20 meters, what is the width of it?

Q4. What is the output of the following program?

#include
main()

{

int x=20, &t;
&t=x;

int &tt;

cout<

}
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ANS: compile time error, as all references must be initialised.

Q5. What is the output of the following program?

#include
main()

{

int x=20, t;
&t=x;
x=50;
cout<

}
Q6. What will deleter operator do?

a) invoke delete operator and then destructor

b) search if any destructor and then invoke delete operator
Q7. What is the output of the following program?

include

int sum(int a, int b=5, int c=10);

main()

{
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cout<

}
int sum(int a, int b, int c)

{ return a+b+c;}

ANS: 20 25 25
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